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A wid B move clockwise around u circle,
‘starting from 4 conmmon paiat 0. g
9 minutes to complete a round but re-
starts afier a delay-of | minate. B takes
13 fiinutes: o o "tca,__e the. round J;ut_
rEstarts aﬁ‘m' a defay 0f 2 minites; How

many minutes after they began would they

M again al 7 J
I 30 2. 29
i JI '.1'-‘_: 2‘3

-ﬁfwm mﬁmﬁ -?rm.

Wﬁ%ﬂﬂilﬂ?ﬁﬂﬁ#wﬁ
wefear #, q far e e

dren wder uEad g faafEar &

m«m%;wﬁwﬁm
Taemeff &2

B 4% 4. 2

- Fourteeh of the stidents in a class are

girls. Eight students in the cluss wear blug
shirts; Twio arc: neither giclg nor wen hiue
itrts, Five stidents who wear blue. shirts
i 'g'.trh How: many smtienm drithre in
e c[nss’a?

'3 a2 foaal,

_'s'm;ﬂ : km krl‘m the mmpkctmn of nin,

1 LA - S ) |
3. 1 &’ LB

A stick of leripth L i broken into T
piecds at sanedom. What is. lhc averags

lesgth of the smatler psmﬂ
| | 1/ 20 L
i O 4.

-.-.Wm?ﬁﬁﬁ?wﬁqﬁqﬁﬁ
E-ﬂm # WE wWa-de G &

—ﬂwz&:ﬁhmmﬁr%m S |
nﬁ?ﬁﬁ'ﬁmﬁtﬁﬂsﬁn%'
2 4 fod - @ 4 9l I g
Fovaretr | f.".'i;‘f T @1 s =
B @ AT T O, TR g

@ gte Aty 9 4 R oed wm
.-ﬂﬁrf'lﬁi”ﬂ‘ﬁﬂ'W‘%‘?

2. a0 fo.
i 53 mﬁiv -

21 faad

A long-disience rum}cr finds @ water!

- statfon ‘after corripkfmg — Hh of the total!
distinea: Affer e-:wermg :enothnr —th of

m}ﬁg = nf the: total distance; What s

S athad s @ 27
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&

2, 20043
& PN

1. 0042
3. 1043

Maoverment of a car with respect to- A s
gwm betavi:

3 67

The average speed of' the car s,
L 3042 2 2043
3 1043 4. 2143

T fua o ww e § 150 ot
215000 W Ao Awar & AR
w® HfF W w @ 92 50 W
@ora wiwr atad & ab Bl
kT 4 aften o fh?iﬁm#m
o1 dhE afer

1. 7450
s

5
4. 1600
A fuel station sold diesel costing 315000 19

150 persons on a day. I the lowsr lintit of
sale o 3 perspn :52'5'9 whit 74 the

maximaimn amount in rupess for which |

‘one person could have purchased diesel

on that day?
1. 7450 2. 7300
3. 7550 4. 7660

ﬁﬁm’f {zm 2017), {zezr 2027)

{zaa? 2087) W W f&'ﬁ\‘-r Bi
'i.' '!am 2, 1060
3. ToovIa: 4. 100438

The #réa of the Arigngle formed by joining
the: pumtq (2917, 2017, (2027, 3027) and

(2037, .20!'?}!5
L2017y CI L
3. 1000 4. 100420

[ Sanpeeta’s duvghter 14 my daughter’s
3mnﬁ1¢r then  how am I related 10
Sangeeta?

L [Son is'the only jossibility

2. Son-inlaw s the enly possibility
3. Daughter is the only possibility
4, Senin-lai or daughter

- AN G My Mo M M R R
et fy

;5

. ﬁj : -5 W—'@
ER 1 L

Foue maies My, My, M M}, and four
females By, By, Fsdnd F, msmlngmnd_
‘& tound table facing away from the-table
“as shownin the figlre below. [ gach one
‘moves three positions to histher na,ht and
‘then one poesition to the left, then in whith
divection does F; fice?
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4, Warth

10,

11,

iﬁ’aﬁm*@ﬁfﬂ 12
=il il s
Wt €1 Pl Paardl B sl

- mmﬁmwm
mmmﬁﬁwﬁm
ﬁw«m%‘lmmmﬁ

Prof. Murthy likes to let her students
t.'hm)sc who  their pariners will bey
however, mo pair ¢f students may. work
together foir more than seven class perlods
& row. Alice and Bob have warked
Aogether for seven ‘elass periods in a row.
Calvin and Demny bave worked together

Aor three. class periods in a row, C-B'J\r!n .

doss nat want o wark with Ahcc Who

shnuld be assigned to wark with-Boh?
Calvin - Alice
3,- Deany 54. Norre-

44 Ramfeal @ wqg o 26 faardt

'B‘Eﬂ?mmmmm

Reardl fpde @ad 2 S
11

Bode ot wed &2

it

12

12.

13

b AR 2. 15
3. wig ww 4. 7

Ina gmup of 44 players; 26 phiy hockey,

24 play football and 24, pliy cricket, k:xghl.
of them play botfi hockey and football; 12
play both football and: oricket, and § play
ull the three games. Haw inany piay bt
hoekesrand ericleet?

SO | IR
3. Mone 47

j'(ﬂ]Trz-_r_l_{Jt_’--r,L-}-u : S
= aif m-s-ctm TR w0 @ fay

'w#ﬁaﬂmﬁfﬁmxaa’w o
ﬁafz(xy?

= (o) (o), T Bs ¥ myr
L
1'.* x;ﬂﬂﬂ“\'ybﬂ

2 fx<Oand y=0}orfx > 0andy >0

3 (x<0andy < 0)orfx > 0and y > 0}

4y 20}:‘.&?{? = n}:ar{x z Dandy = 0]
Itis given that

(@ =alfa>0

=0ifas 9} for any réal numbicr o

‘Suppose for two real numbers ' and W
G)™ = (x)"0)".  Then which of the
Iuﬂmwng is necessarily trug?

I x> 0andy >0

2 {x < Oandy < 0)or {x > Oandy > ().
3 {x < Dandy <0) or(x = Dandy = 0}
4. fez 0for fy = D orfx > Oand y = 0}

T ILHAET 93 W swetsa ot

TUE TS W R frw 0 eedf

mflmuﬁﬁmmﬁmm#
Faeie gfosm wgq g
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lrirfs \‘- ‘\\-_.‘ :
""""W"" g s et 'I.tcﬂ Whnttsthaba&enf‘
-~ : this nuather syster i ns equivalent v:q]ue
1. wyay] . 2' ‘ﬁ? i e deciinal systein i 497
3. H ENS =k LAg Y
: R 5 al i

13; Muriiber-of imes - research paper is

viewed and cited is shownin the plot. In

__whmh mnnth was:the: pe;rccmag,L ingrease

in citntion moveé ‘than the double of the
perceniage increuse in view?

e

1, February. 2 Aprl
3. May 4'., .]I':r'iln'_

14 Rt g F w17 oW faeen wan
adtm 27
0l a?.a, u,. 02, 05, 0.6, 03, .09,

EIS U 3|
“! 055

I.-I %mh of the fali&w-]ug npncms is the best

.'ﬂ..‘I‘;
BA1012
1. 148 s
Bl 0TS AL ES
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16. Which of the optians 4 appropriate for the
blank space?

NE

s
= RN &

3 o 4 =

18 Two stodénts are ‘splving the same
prablem independeny. T the probbitity
that the first one-solves the problem is 2
and the profabifity that the second solves
the probleny is E whit i the probabiiity
that at lenst bng of (Hem solves the

Pr_crb.i?c:'_m?

o)
=
- |
#

WelE WS

3:

A
s

17, In the diageam, what is the ratio of the
totat shaded areq (of the circle and semi-
Cifclé) 1o the tatal area of the square and

Ithe rectangle?

"l
5
12
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9. Akl lsdﬂnppcd ot o hejzht of 100 1,

The, bull after uch bounge rises vertically, 1 E% v g
by healf: Rsprewaﬂs height (This meling af _2- 2 ::
the first-bounee it rises lw-“\ﬁ’.'m by 23/m = :{-Ej, 4 =

at the second hounce and so ‘or). What iy
the vertical distanee iavellod by the Hall
bgﬂwcen the first and the ﬁﬁh b;mnces"

4
=
=
o
e
el

2 4. Ly - Rl s [omo]s & @
- FEY g l;-’r %fl seie e B

R R

% T A-amewwy

2L ,Dmueiear anion [IJ(OH};G:.]‘ has- two
hridgmg %o groupy. Thie: gmamw artingd
=mh m&m‘is 3

a, p#m;:gmmi &paftr.mndai

ii';.w T m«gar &  urdndiam

L s B KiCnio & P w
Mg W 2 -Wmﬁmmmﬁm%
3 _i_'i ‘_1__ 15 =
A9 i te mm#mnﬁaﬁﬁﬁm‘ﬁr%l
.3; -.
@

of the 1o ide ﬁz& "ﬂilcf semmi-girches s
= rh ﬂ'f th:k of the big eircle and the radius 2 Tleiy
ozf the bﬁggﬁ; mmp&h is twivesthat of

‘the small semisvircle; what: proportion of
the big oircle s area s shaded?

e dbemn LVevisible
_.-H’mrs law fails  for

73
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24,

4.

25,

2.

R
o) TS

Trivalent  lanthanide fon having isatropic
magaﬁtlc suscepnbrmy is

I, Eu* 2 Gd*

3. vb" 4 e’

Cﬁ’?'@-‘f’f R s Wi B ¥
o T

The strueture of Caf, is elase to that of
cesivm chloride

nicket wrsenide |

rock salt:

zine Blende:

C-0 Jra weas Al R
MR = IMn'tC‘mu] = fCr{Gt)M >
[ViCoR]

2 PHCORT = TCHO0N]> IMNCOkL) >
R

3 [MalCOLT > HiB.CO> [VEON] >
e |

4 [CHEOL] > THCORI > HhFco =

Ma(COLF

The carreet order of -0 buné:&ngﬂ'ﬁ is

I H:B-CO= IMI'L(GD}.,']* > [CI{G_G)&] >
vicayr

2. [V(COM = [CHGOL] > [Mn(COLT >
HiB-CO

3L EMn(COJ.gj =HiBCO > MCDL.] >
(e )ni

#. [C"_{m}d >[VIEON] > HBiCO >
[MnfCO))™

?némmmmﬁwm-m
SR ol sEe ¥, g v d

. A = 2‘.:1

3. Ga & B'e

‘Among the elements Zn, Ga, Ge-and As; the

one with the lowest firsti umn?ahm eRstRy is
1. As - En
3 G e&. Ge

: s i = G U el
mwﬁwmm

27,

28

28,

i1 I 3
) &9

mwm&mﬁtﬁcgmmdmnf
{:a" (ﬁl};,h spin} in tetabedral geometry is

A e
3’. _“.’E A

Q

R,

g0 ——

oz e

1

_fe
., /m Ha
@ |
k ’FE ?
T ke ﬁ
CHy !

Fo the follawing resction

2

Fa LBon——— : -
At - ; ¢ 20
ool Tom, ol ¥

the structure of the iptermediate is

»&3
onoé K‘c.m

&
A

@
TEEIN

G

LP o
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3.

3.

.~=-5e9"s°—

3dur§aamm%3w@wma«-r

mmm#m*

WWBM% mmm#'

L1BME apm M E

2. N
4 Cao

L 'C'c:.’"
e -Cu.ll
High spin complex of 2 3d metal fon M has a

magnetic moment of 2.9 BM. in: nctahedral

conrdindtion enwmnmem and 4.1 BM. in
tetmhedml environment. The M {an- 1

1 _cu"

KACHO, (A) FET K.MoD, (B) & sdwgfas
Wt & B wd e &

HERIA-d & S A, o FAA B ¥
Ws,mmgaw 1,,.umrmmn@1

e Sk e

FHATMLCT & T L 7 FAA> BRI

Far elgctronto spestea of KaCrOy (A) and:
K. M (B) the correct combination is

L. “wansition is d-d dnd by ford < B

2 transition'is EMOT and Ay, for A <B
3 transition is LMCT and Ly for A> B

4. transition is MLOT dnd . for A= B

NO B A uE gewgw & Bewwe @

A TREREGH A viNo)# 2

B. EPRERFT winfw & wfr

€. HOMOs # g w1 wEE & 2p
wfieat & sder Sfesma & Gher
e

D. }Iwm#ﬁ?ﬁsﬁwm & 2p
anfiest & anden ﬁrﬁéﬁm & B
Bac!

-wﬁm%

. Ead A
e
BETD
A B EUTC

f

FEFITLMCT & B h 47 S5A =B B1

3L

A

FHE | BT L (i )
@) [aramr W | sw
| ey e i’ 500
© | yuwr e i) 350
W |xeemgmaer | (0 | 960

Remioval of an eleumn from NG ma!cw!c
.r‘esults B

A, an ypm in the NG in'the 1R

B, anEP :
2 -elaqtrans in HGM.E}s beaﬁg' closer o

_ theoxygen !fhan— 1o nitragen 2porhitals

B electrons in HOMOs bieing closerip
the nitrogen than to oxygen 2p orbitals

The correct answer i

b N only

2 Aandic

3 Band D

A 1 Barast #r & ond vl s
-mr:#mrltmm#

e A ORI el FEE oA
R 1w Fem SR (1 @Y & R
Ko §208 nr0 B

A Gty — Gt Ge)= (i ady = (i)

2 (ak- tmﬂb} (i fep =i (1)
3. ()~ (it (b) — (i) (o) = (i 48— (55)
4] — ()b - i e =iy =)

‘Consider the nature of safvents in ‘ealumn i

Jand monmmplndmg oo for B in various
solvents given in column 1. (for Ia wapar

s 18530 nm), Mateh: Colunm! [ with
Cotumn il ==
Column T- Coiumn I
] : f*ﬂm‘ mn_:}
{g) | mmedondn Gy 150
{B)_ | weak donor iy | 300
(c] | Stong dahor B
i) [ relectrion dongr

Ty | 36

_ﬁié dﬁmﬂlnm is

;Hﬂ - Lt (k) ~ n;},{dl -{iv3,
= i
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33

;Cumfnmﬁmawm

UsEgA 1 I wfvgar & v

e o e b

{A) Cu T ZnaXar WiRsmaeTs £

(B e Cudh FREEREE

1€ Zn ¥R & 3N oot Rl gat
g U Gen @ g
= T i

(D) #n BT T ZET Ry m?r:mrrq
& sl & wHd §)

I #zmm) 2. AT (C)

3. FEH (D) e cm:ﬁrm)

For the cﬁfﬂly{ac ‘watlvity of Cu amdl Zn
g:#mtmnmg erEYINe; 4w r-:axfcée dismutase,
what isfare the correet statement(s)?
{A]Cu and 2n bmha essential

[B; only Cu s esiy r
1) :m is eseential and Cb may be replaced by
By other divalent meeat stom
(D) Zn may be replaced by any ﬂthﬂr diyalent
melal-atom
e (A)only Gl {jl?-;‘»_:m!_y' -
3. {0 snly 4. (Bjand (D)

mﬂﬁ%#mw#md}m
ﬁ&ﬂrfﬁﬁmkaﬂﬁww%rmm
4%%1%5?3&1“57&%%#3%

5.t 4 m

w{dréafm ﬂm :he c@mgnumd_ Has, onc
ﬁuuhmu
2 shilfur =

3. bromine

4, chlaring

ﬁma@ﬁm W I HEY T
20d,
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36, mmammm
mﬁﬁmww

3T

37,

Ll

m;.n: ﬂﬁa‘ m

For the followi ing .compounds, the correet.
order of reagtivity tovards naclesphilio acyl

subsTHOTHN %

1. sceryl chloride < methyl acetite < doelic
anhydride < acetimide

20 acetamide <methyl acetate < acetle
anfiydride < acetyl chlgride

3. acetafnide < acetic ahhyéﬂﬁe < aderyl
chioride< niethyl acétate

4. methyl acetate < acetamide < acetic
anhydride < acetyl éhloride

N ;

MeOH

L

H

%

The major product formed in the following
-rt.&f.‘i‘mn 15

Li; Tig. Mkg
MeOH

_- ._l O:;)

¥

H

0

12

88, Preafifn afbfer & see en s

I-n-Bull,-80 %6
it: NH,CI

ﬁmm n‘._

= ,VJ\ L heBUL, 8870

il NHE1
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4. Bl 20w & Do nur S
B HioE SR foe f b
8]

o

L4 5
3 6 4.8

=

39. The major product formed in the following A1 Number of signals observed in the

- compound is
s Meo
; _/=<_/¢"H :
Ho—'

2 Z ; e
-l 7S L4 2.8
: OHC.  CHO Cu s

40, PR a@f § s e s ¢
i LA, :
MeONa-

BHTHF
; ii. by
I j%/‘\
I e v
3 gl 4

40, The mjor produet formed in the following
reaction s

: - - ;
L \"Lﬁ’*‘-"\aH 2 ;L‘r/\u-r 42, The siructure of the produet formed during

the reaction of amino acid  with
ninhydrin iy
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43 f0% THEE A OC W Raws

IEe i o & oHe e £

LIB>0=A

4 2 AFREC
3 G‘?R:'-A

4o C=A=B

43 Tin: correet- order | ar rate of sﬁl\fﬂvsﬁﬂf

in 80% ethanol at 25 °Cis.

&

LB=C>A
3C=BxA

2.A=B>C

4, CEA>B

B U P e o G =
wrﬁ'f £

1PAC

W g 1 L0t SR
20 grE (1001 S
& ‘;ws%m’fm r"n"‘fm
4 W[Hm” A

44, UPAC normshetatuss of foliowing propellan s

trigyelofl.] '}_'.'[f‘ Ipenitane
1 ‘tievelall,

. tricyelof 111" 0 lpentane.
4 trmyzlu[l 110! ‘}pemane
45 ﬁmﬁf&a mﬂ-a #r FBre wlr e ¥

Adu B mm%s ]

_, .Am'iﬁ%m B AR
.wmﬁ%mnmmh
At & e R

- w Mo

45, The -correct stateraent about fai]awmg._
speciesis

a @

L B o A s fo b
2. A SiEeT B e o &
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47.

47,

48.

A lalby e

3oAT B A R A R E
4. AT B Gl wiRae wwawr ¥

- The correct statement abiout the following.
‘compounds 1§

e

A :
1. A s mare siable than B
2 B ismore stable than A
3. Aand Bare equally stable
4. Aand B are both locked conformations:

o, TRl gRefPe Seenr smer

3 twmqﬁﬂm#m
|_a'-=r 4 T WA e A
2 B wet B aea g
3, wof J TR W e wr £
4 mﬁi&.ﬁrmiﬂmm?ﬁmii

I thie: pure Raman fotational spectrum of
6, whose electronic ground State is "5,
transitions to/from

L, even.f levels, Are mﬁsmg

2. odd S fevels are missing

3 ,g!!_».ﬁ'luyala‘&pp&ﬂf

4. none of the / levels sppear

R & fav wule W W
Becd ]

AR & B wr e B

=

- [ATB) & e € 1
| AT B ¥ WA
. 4) Yfapmye & FATITA t

¢ [ANB) & Eaer £

'Etm&a;y stegs of & reaction are oy

follows

hy
AR 220

fey
26 ek ﬂ:

If steady state approximation is Equphﬂﬂbld:
10 €, the-rate of pradw:r fhrmataﬁn in the
I‘m is

I\ proportions! to [A}[B]

2. proportional 1o {.ﬁﬁ{ﬂ"}z :

3 proportiondi to [4] s Eﬁ}

4. independent of {A1[E]
49. Hgﬁﬁmﬂmtﬁvwm%
12'4- 2_.‘. :I.z»—.
s 4 xp

49. The term symbol for the gxuurfd staieof 8 is
_' 1:1- 'I.Eg

1; 1% 4 Z!{!:ﬂ-é-

50, W I faﬂwr y pEEEET B b
f{x} T-wé‘ - | B R &
o wEer _

Log A

3.b bt

50, A C-ammn dlsmbutiowhas the fumimal
form () = We ==yl e
\r‘ﬁ!‘]ﬂl‘l@&ﬂ'f such distriburion is

1. a 2.at
3 b 408
51 U seeATiE welie uEs & fv
uzéfsh ¥ ftada B
I mazﬂr 2 A
&1, The change in entropy fnr a reversible
‘adiabatic process s
12 maximum 2, minimum
34 weto 4. positive
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52, @l
Infs) + Cu™(ag) = 2n" (ag) 4 Culs) #
T mmt 110V FRG
B 3l A, fesrgra ot # afveder &

(F=956500 coulamb mpi)
Eo 21,25 malh:

3 TR el

1 2 kfmelt

4 212 imof!

52, The standard cell potential for thié reactian

Zn(s) + G (a) = 2w (ag) + Culs)
is + L0V, The Gibbs ﬁ-ewanmgy change
duririg the reaction is
{(E=96300 soulembmol ')
1o =212 %) miol"
2.+ 2102 k) mol !
3. -212 k) mal!
4. =212 Imol!

‘ﬁ' Wﬂ% Irrlul
e

0 = |
'3 3

E A R #
2
"

L1

oo

'83. If the unit of the. vite Gonstant o i reaction’
s Lmal?e!, . the order-of the redetion i
Bl o
o 4, 4

§4. g7 W ¥ SN 15t sl
faram & TR wean Sl somyr B
I, 2 8

34.. ‘The lowest enerey statoof a 1s125!
‘electionic pmﬁgm-man, aceordi ing to
Hund's rule, is :
e 2. 1.5';,
3. 35-1. -4' ‘.Lgl
55, fwéﬁmﬁrmﬂﬁma@m[fﬁj%
1.

) —m' i'.lr.
3 1, By,

55, The communator of ¥ with the Hamitonian
ﬁ' [f Hia&

18

1.0 2, ik
A =T
¥ Eﬁx 4. ;ﬁx

5&-W5yl.wa§mfamw Mk Hew
Hafa o & Ao P B mE

Toraem & 25 Co TRl e (e )

g_

mfzzsawmm'mm

. e
3 0005

2,005

4. 0o

A5 EL miymf;t- solution i mpa.red with
Al pblymer mlar mass 425 ke, The
nsnatic pmﬁsur: {inawm) of this selution at
25 Cis

{{:mdcr HT = 2580 3 mpl’ )

¥ 0_(102
3. 0005

2 005
4_. Q.008

A7, A vw oo weemT 4 5 R

aﬂ‘wq&i#%ﬁmﬁg T

FOU A HUFF wE A r-hlﬁ’ﬁﬁ'
e Y e
e 5 B8
i

-
e

eura '.
o™
&

- AT Il the Jatice pdints of @n FOE structure
arc oteupied by uniform hard spheres that
teuch cach other, the fraction of volume

u‘.wcui‘!_wd is

I B 3,28

(S B 2n
5 5

ﬁa@ﬁmtmmmmﬁ
1. favr it & et
2. T Frwmee 33t & e swdteai
3, BfRe o ) Gl w5 e e
'S fhﬁ}‘?rmaﬁrwlfﬂ

S8 Origin of the 'colligative: ploperties of-a
diline solution s

W of &uhﬂamqiemlc

2, intaraction of solute- salvent molecules

3, J:&tptnt'h;llp H'_m‘ix:ng

4. entrapy of mixing
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s

50, 'T‘hiz‘ grapiythar fepresents thc Lar&gmﬁ n‘

P

Adsorption thhda'm is

Ly
Wi

e

3 ¢

¥

60, FEE A ¥ WEOEST BT SR BA

p‘r—'lv

4

il ! CERNOR

=

i

o s et w7 e B B

—

NADH [ |7

TAD [T

CCAASEE | R 3

60, Correct match. for the mcnzyma&m Column

A with theie finelion in Colutin B s

izl Alad

S RISEHE—1AH—2A

17

6. bisiy® %ﬁﬁm‘ﬁ%ﬂm Plhﬂ’mﬁlrfﬁ’
% v s e
mm'#wwm,\mw%

61. Dne of the produsts formed: in the bistn'S
allyl) mickel complex eatalyyed wyeko=
dnmm-ammm u'l' bmtat#wne. i ﬁm pmsmm
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62, IRl HEE LA e &
ATt v ¥l B LS wew

) Prora dfee
Eonr il HIEA
@) Mt — iy 504
___MAO.= Eiirn
{h) MeiCH - ) 7 N 3 Na
[BesLf
(o) Ag H Au - it} [HaSOsF
aglnuﬁl (T 35kl
() HiPO, — (v B ek
[P ] .
nﬁ Torames &

m i) = (na.teJ {Tﬂdl ()
8y = (DY = kel — v ()~ fi).
(&= CH1E); () = (1% 46) = (0 () ~ Liv)
4 (= i ) = g () = v (dy = (i)

62. The transFormation are given in column i
and reagent ‘intmumn 1L Mateh the items:

of gotumm T with those of eolumu 4

Cmnmn { 'Eﬁitﬁ‘i}'n 11
@) IMagE - ) HS0,
e = I
Zﬂ:) MeyCH = | {if) Natin‘liquid-
[MesC]' My
() A5+ Au | (50 [HSOF]
AsfAury (super acid)
(d) HiPO—y | {iv) Liguid BrF,
[P{OH ] ; :
The cameet match i3

l. {ﬂjl(f}:{h} Gﬂ:(\i,"] (i () - {-w'l'

mw?’#wq&aﬁaﬂmm
(B) e G & 7R Mo 8 Ser £
08 WA e o G Sl oo

izl
o mmmmm@ﬂ

e n-n‘n’m'erm%J
g

L. (A) THTEC),
2 (BT (C)

3 (AN BE )
A R)LC)FETD)

63, Consider the failsw‘ng statemients for the
sy genation of henocyanine: ?
fA) oxidation state of both: copperatoms
o changwbx e
(B): “t hemma; mm bluc {’og“m cn‘!ﬁurh@s

(A).() 3nd ()
4 Uﬂ EC(}aﬂde}
64, P St (D) & -0 e

IPCHCHDT (A, m(?mmomn By
r?mmvc»ccwmi

65, PoaRile # 8 #598 cose FEET 78 b

FRCOn’*CH FCBIE (&), BRG] (BY
(B [:"la{ﬂ“([‘mal}i' )y (LB l'm

L (€) 3 (D) 2. (A)FEr(B)
3 AYFTC) 4. (manrc)

BM1RISEM§—1AH—28
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65, Which of the following are NOT claso
clusters?
[{Caln“Cat)) e fiuHal] (A {B;{,;H.l fﬁ}-
[ﬂluﬂﬁ{AU{PPHﬂﬂ (€, [CsBat ) (D)
Tllp"mrrm ansWer ist ;
2 (Apand (B)

1. 4C)and (D) :
TofA) :md (e 4 (Byand [C)
66, %mfaﬁaa w3 EFH' AR
b= ri g &w; Easm;gfr:f: L
gAHaraE o £
[PAPER; L] (M), [VICOY] (B); TCHeoN] (c}

(REPPR O (D), for-CHNINOY) (B).
NHLO L (7

l BEMC % ATETE
FoAaD : 4 CWIE

66, Identify the pair of moléeuley which arc
isgelectrunic as well ds isostrucrral fro
th;’, ﬁ:ﬂlawmg, ;

EFG{FPEHM A FVICOKRT ﬁB-) 1ERCON]
(C). [RR(PPh )L (DY, [(‘1 -CﬁhW[{Nﬁ)i
(F) PHCO):(F)

1. Band € 2 AwdF

67, Freriaian B & R ol waa g

(M) st @ weerT e |

m 1 # mm
e e SR
e} mr-r&!'r [ma‘m’r Brf:r ?grer&lar%i
() T S PRy e &
Tl s
L (A Ber 2 (AR )

3 Oy 4. EBY QU RN

67, For the fmmwmg ::mchom correct statement{s)
e

EE)ﬁ 'lt i mgg:atm.} lm;::rnonmm#r

The correct answer bs
I. (Ajonty

2. (Ayand (€Y

3. (€) and (D)

. (B) (C€)-and (1)

8. {m"* CHgTHCOR] B CHL %‘ 3@@'&7
i A ?1 difiw A, 1 NMR S

# dr famde qufter b oy el dar
IS 35 ¥ WIS AF pih, dEr

ey i BAFT 2B owT *}Jmmw
el & 3 ¥ i & Tl sefaw
?ﬁﬁar C o ng

3505 Bl HTE A G B
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68, The reaction of [t_ﬂ -E,éig}FFﬁ{,f}h] “H]’I CH:!.'.

20

9.

ives compound A ‘Fhe TH NMR spegttum of
A shaws two-singlets in an integrated intonsily.
ratio of 3:5. Compaund A upon reaction with:
PPhy gives compound B. The 'H ONMR
spagtrum of B hhws 3 scts et‘ sagn:il& in an

‘I -
CHy i

F'h_qF'

“’cﬂs

60, e R

gt 1 P

et # afh wet # awEeh
LAY N 3 Crog & R am
it g B

{E}N?%aﬂ‘rﬁhmhgw#mm

O
{€) NP ‘eﬁm ﬂH”gq‘ﬁ?ﬁWWﬂ
i g B j
(D) CH T Gttt & R ey ameee
T B L
IR
LN, B D
3 BICaETD

HUTEREAr

2 pawe
& waEETn

. 5.B.CandD

(1 o i!?ﬂ'm #F “Helght eguivalent o

T0.

s o8

ldent].f)( ith¢ Correet statements abgut the

ot _negmwﬂw of proups given below:
(A)EF; proup has greater value than
4 that of NF;

(ﬁ}) NH; - group has fower value than
_ that of NF,

(CYOH proup: has - “grester value then
. thavof NE;s

EE))(.i-h wnd Cr H, groups have - almost

slmﬂar values
Cﬁm_wa‘fs

2, Band€
4 BadD

hépretical plate (HETP)" BT Treateifag #
;ér R S A & ?‘m&x FE B
[M ﬁﬁﬁ' #-’ -’L“Fl'q' ‘E' I
¥ e o
(D) e & ged ww)
L A BTG

3B, CTHTD

L oeagn
& B

Hejght equivalent to ‘theoretival plate
(HETP) in gas-liguid  chromatography
depénds sxgmﬁagm}y ‘on: which of the
foHowing?

Mj Tempmmre t}f‘eolumn

(€ Pw;kmgaf R-'ait:mn
1) Column materlal
Emmsmris

T A BandC

2 Cand D

& B 'Cmd[)

4o Aand O

Xe W04 SRS s (), Nar' E
o A & ﬁ#mz o m &M &
FRUEY 100 °C o T wE W AEE A
Sred Bl gl A F el STy @
m&%z mmta zma% A
1 XeFy AT Xe

2. ey oir Reky

3. Xl e

- MFH_HEI-TE-?{QEF@'
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2%

TH. A binary feride () of koo combines 10 38% ‘F&'r:m F O R
witl two meles of give & roduct o R 3w 2 B

‘whichi on hedting 00 T affords sl )
compatid A, The alkatine hydrolysis af A (TR R ci-PENHCIDN & W
gives perkenalt saft, Z and A are, C e W R G €
respectively,
oy and SR, ) nmmﬁwﬁﬂmﬂrm
5. XoF, and Xef} - e e R
3. XeF; and XeFy Bl e &1
4, XL‘FEWX&:F.\ ; 1, A ST
72, Wt A 3 B SR G 1 am '§-‘ v ?"F‘a'.’f_‘ -
i ] == -_'. 8 73 Choose the corpept sel’ of smcments for

Tl W {al Smility ] etfissplatin.-

(it} FrE thy - Th(II, (&) Teomn be preparad from K PACk].
. @ i {(B) 1t can be prepered from [PUNE[Ch.
.hf_l') B c {C) In'its preparation, the ahserved:trans

(iv) e @) il | effiéct for C1 is greater than that ofNH;.

- ' i i stays i ﬁquﬁitmmn with
af T & - e 3 IO
L () (DA GEOY (VR &} Thaahe ue DR X g Aclsety

20 (- B (v)-la) Sing beises.
3 (-G (il (e}- (i) 3 'T'ht':-mrm:t sl i
(e Cilb): (i (v)R). L &,f’mn ;

72; Maich fluorescence colours given in ' 3R,
wolumn A with lanthanide: jons: glvm in -4 B C‘ Dand &

‘column B .
r— o -?M-ﬁ““u m = ﬂm&r m MaV - :ﬁ’ﬂ
| Column A Calumn _
(i) Red [ (b) TH{U) e ﬁm .ﬁm (MW #J-_E"fr s ¥,
(i) Green’ | (o) Bulil) TR
(iv) Biue (d) Tm(li1) 1. 350 2. 650
it : 3, a5 4. 1250

Corvect match s
74, Iu__i“ it 6f U atony the erergy. refeased is

1. (), (o) G0 (iv)-d) 200 MeV. In orie day fissian of 1 kg U witl
2. ()Hd); (E)4ey, (b (w]—{a} Z Jer (in MW) approximately
3. (i)-Ca)s (0B (ii)-Ce): (iv)- 1,550 2. 650
4. (ipe); fua-fb‘};{qﬁj‘{ﬁ}'ﬂv] m ; 3, 950 41250
73, chsBRE W T wh wh oW % 75, [ReClT™ (A) FT (O () 1 grraard
wifre] o ol Rt @ S E el mwﬁ
(A) ﬂﬂmmm#m’ﬁmﬁmm % TR T W 2
g &l 1. () FET B BT MOl TE T
(@) R PUNIICH ¥ fafm e mEE = :
- wmEs 2. (A (B g # MOl IR SR T
EE T
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3. (AN R Me, e wiale w o R
mw‘{mﬁ WW-W#E‘; v

EREVE et Mcmﬁ% T aﬂ'
T By 2w e g

75, The sirnetires of {Rc;r.ig]“ (A) and
:[(l*-zf._!;}" {B) sre made up of two MCle
ity For these struc;umi‘ witigh statement
& cortect?

! ._-LA.] ankd {B} both have MC!‘ umts eifipsed.
2, (Ayand (Bl ham have- MGl uaj
Haggered,
3. (A) tuts Both MCL units. mggerﬂd
-and {B} has both MOl units eelipsed.
4. (A) has both MCL units eclipsed and -
(B} has both ML units st&ggam&

76. BT SEE & T S A3 ul

wEE B gﬁw

(A} Cull) & PAAD AT PU) ¥ SoEoR
e B

(B Cufil) 4 Pdyo) e “?dm)z*r T
g g

) iy e fRehe o wtenfes
AT

78 e b

Lo AFET

3 ATUTH

4 g1 onéy

71, BT et w RER A
B PO AR AT AsClT i fear
HH &
n B $fr m AT 3 :mm :ﬁ‘&m ¥l

1, mimum%mlaﬂtaﬁr
ST LA §

2w 1 nwew ooy 1wl
e Al g

5. s vER ¥ w1

: C@n&ldﬁr Fﬁﬂowmgsmtmmm
| .ﬁ.sm,-is mmna'll ! Icﬁ 'Ealc rh&wl‘:&l(:

mjmﬁﬁm YIS g-. i ﬁaﬁm
8l

() B3 7T G Y St draE 2%

(€ & e i e & w8 g
smfafy weer i

(D) aw 1 ET ﬂmﬁmm:g &5
mﬁmﬁrﬁrwﬁm

; ﬁnﬁhe centeal
.l &mﬂl r:_-n]y

@ﬁﬁﬁ%ﬁmmmﬁﬁw

() e arEer & VU e o E
Y 3EE B

() V() Y 9T O ag) ST8E wwe
MR §|

() \? (ag) 81 3T O (a8 T
SR 5 irga Gl e d
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79,

3. BandC

L AFas 3 AgEre
3. BEUC 4 AB@ure
Consider the following statements;

(A} Cr" is easier to oxidise than ¥
in the gas phase.

By or {aq) i§'amore | puwarﬁ:l

redicing agent-than v [ag),
(€} Therate of water exctum%v for Cr'"(aq)
is mueh faster than for V fﬂq)
The correct statements are
Aand ©

1, Aand B 2, A
4 A BandC

. T |- 11 % o sl Ay 9 Rew

e

] !Feecl-n-al *rc@mm"—»
fFe(Ch +[C¢1CB-!M

e Colblmh} S Corbipyn]
CotbipyhI" * [Co*bipy )l

(M1 (CoHRFT HORH.0) >
[CONH )T+ t_‘e{twm“f‘

(A) LT T A meeR
L o

(B) FEE 0 F %vmy mﬁamr
GGl

(€y AR AU e f g
mﬁﬁwﬁwﬁa’rﬁl

{0y welEet La o A M e ﬁi‘i‘;ﬁ?

- e wfEafEe S g

H@fmt

I A?f-‘»lTB

LBAWD

2 BEUIC
4, CaEUD

. Consider the statements A-D regarding

eqeiations -11E

(I [FefCNR]™ + [Co(CNy T —»
[F(CN)I® + [CoteME"

(). Cotbipy)f* +[CoM(bipyhl’”
Cotbipyhl™ + [Cot(bipyh]™

(1) [CofNH)H ™ + [Cr(H0k)" -
[CotNH; 1 HIO)T + [cméza;ssl 4

(AY Marcus: quuat[m! 15 xpphcahtcw
ClandIL

(B) Mar@us«aqua:lnn |s=appildsbkm
11 oy,

(€)' Equations Land Il involye toner

sphere electron fransfer:
{{}) Equations Land 1 involve inrer
sphere eleetron transfer,
The comsct statemonts are!
lAand B i Bandg
3, Band D 4 CandD
81 mﬁm@%mﬁ

i Urea-Hy0p
(leguiv)
i 5 1i Hg@+

: iti: Bl'zl cely
S
2,
2
4.

81. The major: produot formied in the fullowing
n‘ﬁtlatmn rﬁm{mn 15
i Urea-H,0,
(1 equiv.)
S —— =

i HyO"
iii. Bry, CCly
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" following reaction ssquence dre

‘0 2l
[‘5/@'” _PNPSEHOODEL.  CECHDE:
: ! et

85, MRl 2P wa @ Tt A
1 Hegen a0 3w s B

Al (BOGE| i

B

| mapEn
e e
Fl!gi’ﬁ"""pl]’u’ Bl

=

:- ﬁ)ﬁ} pm&mt B in the ﬁaﬂewtng mmm
.'ZW
':td&a dibmmadmmane]
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1 m’rq' gaﬁv-'m;q Jialﬁﬂ‘cf [432] m 3.0 A reacts faster thah B to give gis-1,2-
\ dlaeelaxycyclahmm

#. B renois faster than A to give ais- 1,2«
4 Eﬁ’ﬁ RS i diagetoxycyclohexane

[2+2] e g K '
e Lt 88, PR PR 4w A &

8. M“hﬁ“‘smﬁffhtft:ﬂuwmstmsfmmaﬂm- HOTAr A B umw - Egd
involves SIS i} it
@ + FGIEF v N heat BusSnD

L. A'[2+2] eyetoaddition Followed by
“con’ rottory elcctrncy:hcrmg opening
2. A [4:2] eyeloaddition fﬂ!lﬂw‘td by ‘eon’

Toditory tlecmeychc Ting-npening
3L [4+2] cycloadd:tlnn followed by Cope 1.
mamngfmxem i
4. A [242] eyeloaddition followed by “dis®
rotatory electroovelic. Fing opening
o . 2!
87, rfafe it e NUOASIACOH 3
IR F W svaes & e wd
! ’ 3y
: : TS
A
4.

|, tran- 10Tt TE T
ﬁ#mBﬂ-’rmAﬂH Hihf

_n &l 85, The struckare: a'fihe intermediare A and the
2. ltrams-1.2 Ghliaius Yok major. product B formed in the following
A A iﬁ'arﬁawnéﬁir srfk&m m t'i reaction are-
_— m:r A aar aﬁaﬁm e afi heat Bu;SnD
& e [A] ;

.m-ﬁ -#maﬁmmh

87. The correet statement dbaut solvolysis. u;si ng

. : -
v o
NaOAG/ACOH of following compounds is e _ e
O:@'rs. ~_a0Ts I = ‘-’ *@u
_ : = . _ - .
h.mrc

L A redets faster hian- B to. ‘give: frans
1#"5*%
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"¢
N

0. ww i & Mo Fega e
FrafaiEe #
U NN B 796 o = Sli.t,EH) &Mc!.st
Hz, PEHL 43 (g, =6 Hz 2HE 4.0 (brs, 28,
D,oﬁm}la{u 6z, 3H)
Mans.mlaiﬁ'

:D;f} S lﬁmf—ﬁ.ﬂz. 3H)
Mass: iz 165,137, 126, 92
‘The corrset structure of the cnn?pmmd--'rs

90. ‘The majr aliylic alcokiol A and the ester B

&ﬁﬁgﬁ:’fiﬁ-:ﬁ!&cﬁb&l‘ﬁwﬁfgm' 10N sequEnce are
i -'-1"!_ L?QR-W
ILHGHO

M’M&: B
PRemeac Gl

=
B= 6
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91, ﬁmﬁﬁaﬂmm#mﬁam’

mamsfr

B S

91: The major; pmdm:ts_s\. md B formied in the
l‘enmﬁg reaction suqume dre

28

"?Eﬂt IFTI : H

92. Reaction of Deglueose with fallowing
‘reagents produce:
Reagents: 1. Acetorie, H
{Etﬁ)g?(ﬂ;&ﬂ:t‘@;ﬁ, ‘Nat

G o e B
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L
3
¥
T
4.
94. 'Fhs major pmdnm Avand B formicd in the
*fmlnwlng neabrkm dequende &re
HTFEAT O ST (7S] T endo S e coa
3w Ryves A algar & R @@ s S ARG 1000
'.%1 - <

00—

l Tz Me =P LBy
PSRt GBUS RS = Me
TR Mg Me>= P> By

-4. TS mabna _L—.’ELI =P = Me

93, For  the following  thermal  [242)
::y:leadﬁtmn redetion;  the corpect
Statement about Transition State (T5) and
preference for s praduct formation is.

Ty, ) e
1 T8mtmsy (Me=i-Pret-By
0 b Mo -BusiPr s Me
3, T8imim,: Me>1Pr>t-Hu
4. T8 fotma: LBUSi-PE> Me

mm#m;@

m AT #
Gl s iz
o ! ;_af
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95. The major produets formed in the

following photachemical reaction are

96, cis- FUAT pane-TCEoA & & ey = o
313nmwﬁﬂﬂamﬁ%mmﬂr
91%&::3!31%54&;;3!’@@%‘ wfhm'r
Hive #r § e
1. cly-FERRHE Y AN frans- Peardiar
i e &1

3 ﬁmamﬂz_m&wﬂmwaaﬂ
Wf\mﬂ& me
m#:

3. civ- AR wmr—ﬁ-‘cﬂ’ma?ﬂ‘i fi?r’{" m}'
mﬁmﬁﬁa#r

& el T i SRR B P S
SRR et 3 et PR

96. liradintion of mllw i or :ma'«snlbencat
31 3.nmresalts o the forniation of i mixtiire
ef%% wis and T% T Glafnbmaum j
Vi trans=stitieneis, mgig smhie lfm.n

'@FE*SIIibEﬁE-

lhecmmetmn um:l'ﬁe fit o

s:ﬁbene is

==

.iil

97. The major heferocyelie mmund fnrmerl
in the foliowing reaction js
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1. :Wﬁﬁzph

E £

S0.Ph

I gy%z-g_?

=

90;;?11

95, TR sl g 1 AR W
sP A BE :
S

aH 1. Tolll {1 equivi}
o 1 i

2 GATay

ta

98, The major products A and B [ormed in (he'
Toltowing reaction. s.eq,uencem;

o T Tmi{‘leqw)

H Z {Jaf;@a

gkt

»%L_Q-.a-
287
: B

31

;.a'

wﬁmﬁf&amzﬁraﬁwm
A B

2k ki
= e,

L g ks TRy >k
2 ke =k PRI k> by
3,« 3:5:5"].@1'%3::‘:1‘!
T

99, The correct ordet of rates for them&awmg
rum:twn: i5

! INH,

=

e e
N&_NH;}
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F.
ka
=5 Eﬂl}Na' lnt‘m#ﬁmwmwmﬁtt
e I R B oy & Be
& e m m#mnae;a' AT i e d
Lok > Ky and ky > ky i [wr&mzl—mmmwmrl
2 Ry >kand K>k 2 [s(h)2s2) 250 s g A D)-
30 Ke=kiand ks =k, AU
4. k= koand ke >k : 3, faCresi2s() i 2))
fagUBRYE A L))

A s HIe2y 2 Hyls@ ey 4]
0f. fratailE SR % o F R g e

e A R nd e S e R H0L, Which of these 35 not @ suitsble
: Pl g ) &nnum'.ahmi wave ﬁrm:{mn fer' the
:ﬁaf’:‘g ';:‘IMR@ e i xeited 1525 elisctron confiauration. of the:
: ¥ [IHIIM@HSE s IRAR)
_ H a_-.[u-:lazvfza 2 s Nl ED)-
= 0 -}2&{2) -2 1)152)]
MUﬁ!“HﬁH&(Z? _
=i Ay [Is{I)MZFMI}Is(z}il.a('l-}jﬂj}
9?’ ::& 1} l&lwm;ﬁ-ﬂﬁmﬁwﬁ?ﬁm
=1 H':;o_, = g & wEs w0 @ e gt )
5 Hz';p_" .}'\'a_ & W, ey seat o fen S
& ﬂﬁ TR O, F Dy R
e &
B. (1, zgmrrmaﬁ‘r B 2 d
wa
m ) e r;h '11 : cwmmmm?m 21
wg e MH R c:iw:@i srﬂﬁ in mﬂﬂﬁﬁ{l’}mﬂm
{.’ui.umn Bfr:heprodum f the folle :
S s} i) ) nwmg mﬁ%ﬁ*&%

Bﬂ#&ﬂiﬁ‘rmﬂ?mﬁﬁ‘ﬁmzn
s Y ST (1) e B S

A E B
ar aﬁ'r T E
__ L ARER 2. AwEIC
Lotumn Al | Column B (B ppm) 3 Bawre 4 AT D
S ] =03 - "
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